TSI2 TD 2,5 — Déterminants 2021-22

1. Soient a, b, c € C. Calculer les déterminants suivants :

711 1 0 6 1 2 0 1 0 -1
dlz‘_g N do=1|3 4 15|; d3=|3 4 5|; dy=12 3 5 1|;
5 6 21 5 6 7 4 1 3
01 2 3 0 1 1 0 1 2 1 2
1 2 3 0 1 0 0 1 1 3 1 3
=1y 3 01" =1 101 “Tla 10 6
3 0 1 2 1 1 1 0 1 1 1 7
a b e 1 0 0 1 -1 1 1 1
01 0 0 1 -1 1
dg_g“b’ =1 g1 17 o= 1 4 1|
€ a 2 3 1 1 1 1 1 -1
10 5 -5 15 a a b 0 10300
01 0 3 0
d -2 7 3 0 d a a 0 b|. dia — 0 0 3
=g 14 0 2 "7l 0 a o BT ¢
0 -21 1 -1 0 bra 0 a0
caa 0 b 00 a
2. Soit n € N. Soient a,b, a1, ...,a, € C. Calculer les déterminants suivants,
de taille n :
ay ay -+ Gy 1 1
a ay - 1 . (0
dyy =" ™ ; dis = ©) ;
: -'. .'. a2 . .
a -+ a3 a (0) 1 1
a+b a a
a a+b
dig =
: . . a
a a a+b

Solutions. dy = 116; dy = —18; d3=06; d4 = 14;
ds =96; dg=—-1;, d;=-12;
dg = a3 + b3 + 63 - 3(LbC; dg = —1; d10 = —].6;
di1 =7700; dqig = b2 — 4a2bc; diz = 4a® + 27b2.
d14 — (_1)n+1a1 <a2 _ Cbl)"_l; d15 =1+ (_1)n+1;
dig = (na + b)bn_l.
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